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Economics

Paper 11

AL I

oateRTt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. Wd U WrE.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

Liquidity preference curve is
downward sloping from left to right,
because ........ccc.cc...... .

(A) When the rate of interest is low,
the Central Bank reduces the
supply of money

(B) As rate of interest falls, the
opportunity cost of holding
money does not change

(C) As rate of interest rises, the
opportunity cost of holding
money rises

(D) As rate of interest rises, the
opportunity cost of holding
money falls

The technological relationship
between the change in capital stock
and the change in the level of output
is defined as ........cceenneee. .

(A) The Output Coefficient
(B) The Multiplier Coefficient

(C) Incremental Capital-Output
Ratio

(D) Investment Multiplier

T TG Tk BT Sehed IoIaihs
@Fﬁ- 3—(_"_{?". wa‘}[ WUT ...................

(A) g1 SATSIEY hH! 3T, T8l el
ST UeET REe HH @

(B) =AT=T € KHE] B, UET YW
HLOIrEAT ey seel Bid A6l

(C) =aST= <X dedl, T8 &Ror SHivar=
TeftE=mY TEld ae 8

(D) ATSI= <X e, T 0T SHivgren
THE=AY 92 Bld

qreoell TSI sgd A0 Scqred

qIdRdidiad dead AT difseh Sl

(A) STUERA HEUhH
(B) TR HEUTh
(C) a@E Wiead-3caRd UK

(D) Tdeh TOTeR
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People quickly form and revise their
expectations using all available
information and intelligently predict
the changes in prices and form their
expectations on that basis. This

statement relates to ................ .
(A) Classical Theory

(B) Keynesian Theory

(C) Adaptive Expectations Approach
(D) Rational Expectations Approach

Which of the following is not an

example of negative externality ?
(A) Air pollution

(B) Vaccination

(C) Contamination of water

(D) Crime
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Which of the following statements
is true in case of the principle of
equal marginal sacrifice ?

(A) Each taxpayer bears the same
absolute loss of utility from

taxation

(B) Each taxpayer bears the tax
burden in such a way that the
pre-tax marginal utility of

income is the same for everyone

(C) Each taxpayer bears tax burden
in such a way that the post-tax
marginal utility of income is the

same for everyone

(D) Each taxpayer bears tax burden
in such a way that the marginal
utility of all commodities is the

same for everyone

In a closed economy, if the marginal
propensity to consume is 0.75 and
the average tax rate is 30%, what
would be the size or the value of
the

multiplier ?
(A) 3.2
(B) 2.1

government expenditure

(C) 4.25
D) 3.1

5.
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il hivd fagm awema @
TAemEd A SR ?

(A) Tk HIQMAT h{TTTIHB FAA

Uy JohE™ |8

(B) U HiMl =l YR AIMIhR

HET Ll i YA Scq=Irail HiHd

ST S THH 379

(C) A& HEE HUET IR SWMIHR

geT Al i HUW Sa-T= HIHG

YA JARES GHH 3T9d

(D) YA HIEM HUET TR SAIMIHR

HEd LAl I Tk I HEd
ST YIRS HHM 319

S STITTEmE, S FHd UG Hadt
0.75 T8 S0 TG Y X 30% 18,
T R T U SR fhaT Joa
fodt e@a ?

(A) 3.2
(B) 2.1
(C) 4.25

(D) 3.1
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According to the union budget
2023-24, total transfers to the states
and union territories are estimated
to be .ooeeiiiin. of total public
expenditure for the financial year
2023-24.

(A) 37.36%
(B) 41.36%
(C) 44.36%
(D) 31.36%

When individuals with unequal tax
paying ability are taxed unequally
in order to equalise the sacrifice is
called :

(A) Horizontal equity
(B) Vertical equity
(C) Taxable capacity

(D) Tax avoidance

Which of the following is an example
of built in flexibility ?

(A) Welfare grants
(B) Infrastructure spending
(C) Fiscal deficit

(D) Unemployment insurance

JUN - 11225/I1—B

S AfHHRT 2023-24 TIR, 2023-24
1 enfeder aumed T emfur shgenfad
TR Shefl STOTRT TR FEAaR0 THY

chi‘c”r:_ich @di'oq| ....................... mﬁﬁ.

3.

(A) 37.36%

(B) 41.36%
(C) 44.36%
(D) 31.36%

STYHE HIQT &THAT ST ThigTeel
M HIGUTATI hY STHRU IS

(A) &fds wwan
(B) waXsta HHaT
(C) =i &fwdl
(D) HTIHAR

Tefteryeh sTafifed aafasha=n Tt
3Mes@n :

(A) HSAH ITEH

(B) HeIYd SHIEAEG T
(C) forxita g

(D) SUSTR - 9=
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11.

Balanced Budget Multiplier works

only if :

(A) Transfer payments are zero
(B) AY/AG is negative

(C) Taxes are regressive

(D) Tax base is small

Arrange the following in descending
order according to the extent of
expenditure of Union Government in

Budget 2023-24.

(2) Central Sector Schemes

(i1) Interest Payments

(117) States’ share of taxes and duties
(tv) Centrally sponsored schemes

Options :

A @ @G @) (o)
(B) Gi) G @) Gv)
C) @ Guw) @ @)

D) Gv) @) @ @)

10.

11.
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Hferd STQTSTdseh T[UIeh < Weiierdeh!
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(A) THARA ST I A

(B) AY/AG RUCHe: 3THd

(C) yfemet e

(D) HAifed HUHER

2023-24 T e ALHHTITIR

refsifeh St Sael SHHM Hig o .

() HE-TF A
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12.

13.

mm

The Kelkar

recommendations are related to :
(A)
(B)

Committee

Fiscal consolidation

Guidelines for the privatization
of PSUs

©)
D)

Power sector reforms
Tax incidence

Diffusion theory of tax incidence
states that :

(z) Tax burden is shifted and
reshifted until it is spread

throughout the society

(t1) Possibility of diffusion of the tax

burden is more in indirect taxes

(zii) New taxes are preferable than

old taxes

(v) Tax diffusion deals with tax

incidence.

Which of the above statement/

statements is/are correct ?
Options :

(A) Only (iii)

(B) (), (i), (iv)

(C) (ii) and (iii)

(D) Only (i)

12.

13.
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hoseh? TftcT=a FThReT qeetient sHemeft
Hafud smed 2
(A) foxita st

(B) TR ST WSIeh o=t
arieyis I

(C) =1 &=l GEmRom

(D) e

FHEEA R FIGAER.

() R B GHNTG MR 3T
TEAARE B et

(if) STHAE] HIAT AIEAHI e
TOR Ul YRl sifyes sTed

(i) 7T R T AT AL AF FEH
1A

(jv) HIIR=AT GHRET HIEART Toe

3Tl

EIcTUeh! VI faem/aRIordt faem akeR
aMmed ?

i

(A) e (i)

B) @), @), (Gv)
(C) (i7) 3T (3ii)

(D) & (@)




14. According to Harrod model, the

15.

natural rate of the growth is
determined by the current growth
rate of the working population and

current potential for

progress.
(A) Economic

(B) Social

(C) Technical

(D) Socio-economic

What is correct sequence of stages
in the Marxian theory of economic
growth ?

(1) Slavery

(2) Capitalism

(3) Primitive communism

(4) Feudalism

(5) Socialism

(6) Communism

(A) (1)—-2)~3)~4)~5)—6)
(B) (1)—(4)—(5)—(2)—(3)—(6)
(C) (3)—(1)—4)—(6)-(2)—(5)

D) 3)—(1)—~(4)—2)—(5)—6)

JUN - 11225/I1—B

14. e yfoaHgaR, ggi=n Jafifed

15.

FTEIRT TAh A AT ST ST AT

(5) THSER

(6) HHaS
(1)—(2)—(3)—~(4)-(5)—(6)
(D)—(4)~(5)—(2)—(3)—(6)
(3)~(D~(4)—(6)—(2)—(5)
(3)~(1)—(4)—~(2)—(5)—6)
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16. Which growth model inspired the

mm

use of capital-output ratio for

development planning ?

(A) The Harrod-Domar model
(B) Solow’s model

(C) Kaldor’s model

(D) Feldman’s model

17. How does neoliberalism affect

economic growth ?

(A) Free market - economic
freedom — allocative efficiency

— economic growth

(B) Market regulation — fiscal
intervention -  market

distortion — economic growth

(C) Market regulation -
displacement — social change —

economic growth

(D) Free market — social barriers —
efficient society — economic

growth

16.

17.

JUN - 11225/I1—B

foehTaTcR e RSS! Haea ST
G IfaHH Tead-3cdeA  UIRRE
A %l T ?

(A) TWE-S g™

(B) Hrell wiaw™

(C) sk giaam

(D) HhesHd SiaAE

TICRHATAR 3R FGIok HIMIEHR
gure qredr ?

(A) o SNIR I — Ik @A
— FEgH Ry — oNfYE gal

M o

(B) fafa damiR — USTehsig S0

TEEY — SR fagdt — e
g3

(C) TEf seR — foeemas — |rIfSeh
TCA — STdE gl

(D) o SR T — HHESS a8
— FHEgH AN — Smfde

10



18.

19.

20.

Kenya was the first country where
................... model was implemented
to control the high unemployment
in their cities.

(A) Lewis model
(B) Harris—Todaro model
(C) Cobb—Douglas production theory

(D) Unbalanced growth theory
The Solow growth model describes :

(A) How output is determined at a

point in time

(B) How output is determined with
fixed amount of labour and

capital

(C) How saving, population growth
and technological change affect

output over time

(D) The static allocation, production

and distribution of the economy’s
output

According to Joan Robinson’s Golden
Age equilibrium model, national

income is the sum of :

(A) Total wage bill and total profit
(B) Total output and total demand
(C) Total capital and total labour

(D) Total rent and total inputs

18.

19.

20.

JUN - 11225/I1—B

e SUSTIRY fHasToa 2Arorvamandt shia
I YME Hatd fgediel A giqHmET=n
faes el el

(A) = gfaHm

(B) BRH—<rs/ HfdHME

(C) Hla—eTad 3 faga

(D) srgfaa g5t fagid

Tl ggr=a Al IfaaIIaR 7 foee
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(A) I Tan faferse fogen feiom
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JRATMER  IcareAret iy

(B) |7 arfon

()

SEATET ScAIEATeR GROTH a1 Bl
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IAed ST faawon
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FASTAER TS 301 FeurSl

=t /S g
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21. Which of the following strategies

mm

about unbalanced growth is right ?

(A) Deliberate imbalance in favour

of some sectors

(B) Simultaneous investment in all

sectors
(C) Big push
(D) Balanced regional development

22. In Solow’s model, the economy
achieves steady state growth path

because .................. )

(A) capital-labour ratio adjusts
through time to the equilibrium

value of the ratio

(B) the coefficients of production are

fixed
(C) population growth is constant

(D) the technological change is

labour saving

JUN - 11225/I1—B

21. WEATAdeh! HIO SFELa TEI A

Y gEEe ard Ra ?

(A) Foes oW qqas SHdA
fgfor =0

(B) & &He] TehTe bl YadU[eh hl
(C) #ial &kt

(D) wgfera esia foem

22. Tl A=A geEt UiqHmmE, STdeewen

(A) WESad- %19 TORR HIATEd FHdae

qrdcsicl THTEISG Bid

(B) e Uk ReR ST

(C) rehse gt feer o/

(D) IFRITCHS sl STATE o= Sh{o

T

12



23.

24.

In endogenous growth models, which
of the following variables is considered

endogenous ?
@)

(z1) Technological advancement

Learning by doing

(7i1) Investment in human capital
(iv) Population growth

(A) Only (1)

(B) Only (i) and (i)

(C) Only (), (Giz) and (v)

(D) Only (@), (i1) and (ii7)

In case of Hirschman’s unbalanced
growth theory, which of the following

statements is not true ?

(A) The
strategy is especially applicable

unbalanced growth

to underdeveloped nations

(B) Development occurs via excess
capacity of social overhead

capital

(C) Development occurs via shortage

of social overhead capital

23.

24.

JUN - 11225/I11—B
siasita gt frHmmed, qEerdent i
T STaslia "ol 3Ted 7
(i) Fdiqa frewo
(if) TATHIHER GEROM
(i) A AT JaeR
(iv) AHEEA el

(A) B (i7)

(B) ® (i) 0T (i)

(C) ® (i), (ifi) 3T (iv)

(D) e (3), (i5) 3T (idd)
qéicushl wIv faem drg TR ?

(A) sEgfaa fawm™ o fagivd:
sTfoeRfaa e @] B

(B) THIfSTeR SUR G ool
SRR g foeRrd TR
K|l

(C) THIfSieh YR T ST
qeaeIHiHdga fomm aivm gl

(D) |HIfSIeR SMER LA Wigad 3o

(D) Development occurs via equal
simultaneous growth of social TAY 3cIGh SUYshH A=A TehlH
overhead capital and directly o5l TSI FHF Jaeiqd fash
productive activity gRod Bar
13 [m] 35 [
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25. According to Thomas Piketty, which

of the following forces is the main

mm

driver of wealth inequality ?

(A) rate of saving < rate of

investment

(B) rate of saving > rate of
investment

(C) rate of return on capital > rate
of economic growth

(D) rate of return on capital < rate
of economic growth

26. If the bank purchases more of
foreign exchange than the selling of
it, then it will have a ...................
position.

(A) Short
(B) Long
(C) Oversold
(D) Squared

27. An economy with long history of
extensive trade barriers, decides to
switch to totally free trade. What
is most likely to increase in the
short-run ?

(A) Government Revenue
(B) Inflationary pressure

(C) Consumers’ surplus

(D) Profits of all domestic companies

25.

26.

JUN - 11225/I11—B
R HU fosHdet Jead: ae qal 2
(A) ST R < A R
(B) Sl SX > TAAUERET X

(C) YTSddeiel YT <X > el
EECIEy

(D) YSddTeid Raream=n < < el
EECIEL

SR Shd T YHIOMG Wehid =old

SIFTEEI Yo AR EGRMET SATed
HUTT ST STChTATINT M
a1e foqd Fw|a ?

(A) TR wegd

(B) Seareren g

(C) SYVie=] SUNEE  GdroTed

(D) I HU=A=ET B
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28.

29.

Which of the following is included
in the capital account of India’s

Balance of Payment ?
(A) Merchandise trade
(B) Banks’ overseas deposits
(C) Insurance payment

(D) Services rendered to US citizens
by Indian hotels

State which of the following

statements are correct or incorrect ?

(I) Mercantalists believe that a
nation could gain in trade only
at the expense of other nations,

as trade is zero-sum game.

(IT) Mercantalism, though declining,
is alive and well in the twenty-

first century.

(A) Statement (I) is correct and (II)

is incorrect

(B) Statement (I) is incorrect and

(IT) is correct

(C) Statement (I) and (IT) both are

correct

(D) Statement (I) and (IT) both are

incorrect

28.

29.
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ETATAdehT HIMET GHEYT WA=l
FAGRAAAETA HiSdel! Tead Bl 2

(A) =% IR

(B) s faesft it

(C) femm <=1

(D) YR BeeTe STHRERT AR el
KRER

TRt Shivrdt faem 4R foha 1

afed, d 9.

(I) <=a9R gfordrer 19 favaryg eTe i

TEIG {62 hales AR AT Tatal
ARG Th1 THedeg Tehd, HIT
MR 7 YI-998a 3Te.

(II) =AORere S{ HH Bd e @,
ek farTe STaehTa frea sTfor = mTel
TTe.
faam (1) g sfor faem A0 s
e

fasm (1) s/ snfor (1) 9T TR

(A)

B)
(C) faum (1) =ufor (1) =l IS 3T=d

(D) faum 1) suftr (I1) <2t 3R 3Ted
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30.

31.

mm

In the absence of trade, a nation’s
production possibility frontier is

alsoits ...ooocveeeeeenn. .
(A) Opportunity cost
(B) Exchange frontier
(C)

Consumption frontier

(D) Autarky frontier

(I) The volatility of the bond
market is in direct proportion to
the monetary and economic
policy of the country of the

participant.

(I1) Bond market is a part of capital
market, serving platform to
raise funds for the public sector

companies, govt., and corporates.

(A) Statement (I) and (II) both are

incorrect

(B) Statement (I) is correct but (II)

1S Incorrect

(C) Statement (I) is incorrect and

(IT) is correct

(D) Statement (I) and (II) both are

correct

30.

31.

JUN - 11225/I1—B

AR STUREAdd, Tere e
IURATAT FYFae HHREd e

(A) well @

(B) fafm=
(C) Susim
(D) eAferht

(D) A SR STfeerar & geariea
TIM=A FoAfasTes  fur afifefen
RO 92 YHONT 3T

(II) QY 9NN & WSaett S Th

T 3R, TESI-eh QA U=,
TR, e SURvIEe =a-

Toret Fel qd 3.

(A) Ta&m (1) =nfor (1) =T 2= 21

(B) faum (1) =ra anfur (1) 2737 3T

(C) faum (1) sr@mg snfor (11) ara 31

(D) faum (1) a7t (I1) T 9T 3Ted
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32. Match the following : 32. Siedl Seodl
() Absorption Approach (@) Tae=m gfesm
(b) Banking sector financial assets (b) SfepTT &ATdter sTffer Aeram ST
and liabilities MHIES
(¢c) Propensity to inflation (c) TAaTEET o
(d) Inflation (d) Tae
(i) Relative PPP (@) wHe G
(z1) Capital Account (@) YEael @
(iii) Alexander 1952 (iii) SRS 1952
(iv) Magnifico 1971 (fv) HFAfR=RI 1971
(@ b)) © (@ (@ b)) ©© (@)
(A) @) @ Gv) @) (A) @) @) Gv) @)
B) Gv) @) G @) B) G) @ @) @)
©) Gv) Gi) @) @) ©) @) @) @O @
O G) Gi) 6 G D) @ @ @O G
33. Besides the static gains, which of the | 33. Sehid FHg TR Hee, feeremreafiisr
following dynamic gains nations QIS Teerdeh! H3al THM ey fieg
would receive after forming the E ?
customs union ?
(A) wRomHIERT fadera @y
(A) Economics of scale
.. . . (B) WeMEehid 9<d
(B) Administrative savings
(C) Greater bargaining (C) =
(D) Trade creation (D) =AM ffe
17 [=] 5=
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34. Which of the following is not an

mm

assumption of the Heckscher Ohlin
theory ?

(A) The production functions are
same for commodities and for

countries

(B) All production functions are

constant returns to scale

(C) There are differences in the
factor intensities for two

commodities

(D) Labour and capital are perfectly

immobile between countries
35. Intra-industry trade :

(I) Widens the choices for consumers

in each nation.

(IT) Reduces the degree of
competition among
manufacturers of the same class

of product in each country.
(A) Both the statements are true
(B) (I) is true and (II) is false
(C) (D) is false and (II) is true

(D) Both the statements are false

34.

35.

JUN - 11225/I1—B
Grefferieh! v g Slefer fagrara
TEldsh A ?

(A) 3STIRH 1 IREE! ST TS,
A 3

(B) ¥d 3TIRA & ReR 199 o™
(returns to scale) T¥ea

(C) T T[T THTA Ao THlh
e

(D) &M 701 viead Semes quian fEer
3TRa
STR-ISM AR

(D) T TRl Teshias FHae! foramia
Hd.

(II) ek ISl A S0 S
SACHMHLT TIET JHIOT HHT .

(A) = foum T aTRa

(B) (I) ¥ 3T S0 (11) § 316 3T
(C) (I) 3719 3T 37for (II) T T 3T
(D) <=t faum s emea

18



36.

37.

38.

For the production function
Q= 20K%-5195 derive K = L) when
the isoquant Q = 100.

(A) 25K71
(B) 25L71
(C) 25K
(D) 25L

Find the determinant of matrix

4 6 1
A=|2 5 2
9 0 4 .
(A) 31
(B) 63
(C) 80
D) 95

Derive the marginal revenue
function for the demand function

g = 400 - 0.1p.
(A) 4000 — 20q
(B) 4000 + 20q

(C) 4000

20p

(D) 4000 + 20p

36.

37.

38.

JUN - 11225/I1—B

Q = 20K%5L0-5 Scred wameR i,
Q = 100 A K = AL) = 74 el

(A) 25K1

(B) 25L71

(C) 25K

(D) 25L
4 6 1

A=|2 5 2| 91 9RO i@l
9 0 4

R el

(A) 31

(B) 63

(C) 80

(D) 95

q = 400 — 0.1p &1 HETO erreR i

| It BT GIR .

(A) 4000

20q
(B) 4000 + 20q
(C) 4000 — 20p

(D) 4000 + 20p

19



39.

40.

41.

mm

What is the point elasticity when
price is 12 rupees for the demand
function P = 60 — 3q.

(A) 0.25
(B) 0.5
(C) —0.25
D) -0.5

What will be the status of average
variable cost (AVC) marginal cost
(MC) is less than AVS ?

(A) declining

(B) increasing

(C) constant

(D) unpredictable

If the value of r (coefficient of
correlation) is less than the probable

error, it means :

(A) The value of r is not at all
significant

(B) The value of r is significant

(C) The value of r is moderately

significant

(D) The value of r is very highly

significant

39.

40.

41.

JUN - 11225/I1—B

foua % 12 =AM P = 60 — 3¢ A
AR weMmR Rl fog Tafashdl T

I ?
(A)

0.25
(B) 0.5
(C) —0.25
(D)
A &g GO Sgeicl SagaeT S
ST T GUE Igere SFarE! et
FAA ?

(A) =t
(B) =it
(C) fer
(D) ST

-0.5

SR (TREEY UR) o Hod HTeA

T HH oA W T WIS
(A) r = qeg AT e =@
(B) r ¥ oI AT 3T
(C) r ¥ Yo TAH AV 3T

(D) r < Yo TU I AT AR




42.

43.

44.

If we toss three coins, the possible
outcomes of appearing two heads can

be written as :
(A) 3Cq
(B) 3C4
(C) 3C,
(D) 3C,

The ‘Bernoulli Distribution’ is

associated with :

(A) Multinominal Distribution
(B) Binomial Distribution

(C) Hypergeometric Distribution
(D) Poisson Distribution

Which of the following is not

described as a dependent variable ?
(A) Endogenous

(B) Regressand

(C) Controlled Variable

(D) Stimulus

42.

43.

44.

JUN - 11225/I1—B

S AT G A0 Behell @ g9 ‘o’
fegmar gyres aftomm o9 fafea s

RMehdld
(A) 3Cg
(B) 3C4
(C) 3Cy

D) 3C,
sl foraeor areArell Hefid o1
(A) wguel fereon

(B) formel faraem

(C) stfayfadr

(D) e feo

GTAIATUeh! hIe Tkl 3Tecifad o

WA JUF hol G AR ?
(A) st

(B) wHIfEa

(C) frEfa =«

(D) SwSTh

21



45.

46.

47.

mm

When the variance of financial time
series varies over time, which of the
following models is more suitable ?

(A) AR

(B) MA

(C) ARMA

(D) ARCH and GARCH

The direct application of OLS method
for Simultaneous Equations leads
to :

(A) Consistent and Unbiased
Estimation

(B) Unbiased and Inconsistent
Estimation

(C) Consistent and Biased
Estimation

(D) Biased and Inconsistent
estimation

Type one error refers to :

(A) The probability of rejecting the
false hypothesis

(B) The probability of rejecting the
true hypothesis

(C) The probability of accepting the
false hypothesis

(D) The probability of accepting the
true hypothesis

45.

46.

47.

JUN - 11225/I1—B

o

Steg1 Toxi™ shTel ShifHeh™ Y=ol hieTdic
Ffges A 3Mg 2

(A) AR

(B) MA

(C) ARMA

(D) ARCH s7for GARCH

ThEHEh THIRLUMAT OLS Teed= 92

IUAISE el AGd W 7§ U B e

(A) gETd enfor sl ek

(B) WfYAd oMo STETa Wiedhad

(C) gETa =i R ke

(D) IfYa oTfor ST Wieeher
THR TH F © Hfd w

(A) @i TElae AThRUATH IRl
(B) ®R &l ARRUAT R
(C) T T THHRuATE IRl

(D) TR TTEaeh WeRuaE FYeAdl
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48. Which of the following is a Dorbish | 48. reATeTieht <hIordl SRfsrer AIfor sfierereit
and Bowley’s method of constructing FdeTeh TR oAl 9gHd o 2 TS99
an index, where L is Laspeyres and L & eI ST P @ qeerEn fesne
P is Paasche’s index ? T,

A) L+P A) L + P
L L

©'p © 3
L+P L+P

(D) 2 (D) B

49. Which of the following is correctly | 49- Sreftertsht ki e U A
defined as coefficient of AT HIA ?
determination ?

A 1- Zﬁiz
a) 1 L, w
Ty}
> &7
) B) 1--—
DEr B 75y
B) 1-55
i
Y}
72 © 1-535
in
. i
o 2 © 5,2
Ty? '
23 [=] {3 0m]
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50. The term demographic dividend is

mm

conceptualized by :
(A) Warren Thompson
(B) Landry

(C) C.P. Blacker

(D) David Bloom and David

Canning

51. The first stage of demographic
transition is not so harmful

because .................... .

(A) Birth rate high and death rates

are low

(B) Birth rate and death rates are

medium

(C) Birth rate and death rates are

low

(D) Birth rate and death rates are

high

50.

51.

JUN - 11225/I1—B

ARG EITIES I ATHIIT IT ITeeT=T

HhAT A=A R el S
(A) 9T grFET

(B) ol

(C) H.Yl. =TT

(D) Sfge =@ v efege &

ARGEIRTET hauml dfeal o

SRl BIfehReh T8l ShIOT T .

(A) STH ST & U Hog <X

AT

(B) S T AT §og T HEAH

(C) SF T ool ¥ T A

(D) S T AU g YA SR

24



52.

53.

Choose the correct statement for the

Positive Externality :

(@) People living nearby area and
the factory workers suffer from

the deteriorating air quality

(b) Real estate price would likely to
increase because of construction

of metro

(¢c)0 Research and development
creates benefits that helps

society as a whole

(d) People living near airport suffer

from high noise levels
(A) (@) and (b)
(B) (b) and (¢)
(C) (@) and (d)
(D) Only (a)

Which of the following is the largest
source of water pollution in major

rivers of India ?
(A) Untreated sewage

(B) Agricultural Development

JUN - 11225/I1—B

52. HHNIcHe dRIqEsl 9rg faum faer .

53.

(@) SIS IR TBUIR ik ST
FRETATNA  HTHTRIAT g =T
TAEAe oERE AE gl
e AigRmEe Re s
forudt aTevaEl YERERT SR
TR S forRrTes FqUl SIS
Ted U HEe T g
foMdesSIae TG TR ST
e e B

(@) 3T ()
(b) T (¢)
(@) 30T (d)

()

(c)

()

(A)
(B)
(&)
(D)

ARANE T TGaHEd  STAag s
Y@ HRU VAR R e 2

T (a)

(A) 9fmam T Sl Hiearo

(B) It &smen fasm

©) FJnregl.Jlated small scale ©) st
industries 352
(D) Religious practices (D) @ifde e
25 [=]{30m]
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54. Kyoto Protocol assigned ...................

mm

responsibilities for developed and

developing nations.

(A) higher

(B) common but differentiated
(C) equal

(D) narrow

55. Which one of the following is the
correct sequence with reference to
the density of population of the

states according to census 2011 ?

(A) Karnataka < Maharashtra <

Bihar < Uttar Pradesh

(B) Maharashtra < Karnataka <

Bihar < Uttar Pradesh

(C) Karnataka < Maharashtra <

Uttar Pradesh < Bihar

(D) Maharashtra < Karnataka <

Uttar Pradesh < Bihar

JUN - 11225/I1—B

54. R kihianed fasfaa mfor fawmga-

55.

HedT TR

(A) 3=d

(B) HrHIgeh YUT i (csAl
(C) 9HH

(D) HeRfed

2011 =1 SIUHIER TSaT=A1 dleh-

TEIAT ST FeHTd Teiieiieh! shiodl

HH A E ?

(A) FAlCH < TR < folRR < STUR

(B) TR < Flesh < foRR < ST

(C) Fleeh < TR < JAIRTT < TR

(D) TERT < Flesh < I < fogr

26
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56. Population explosion happened in | 56. T &3 YRA Arhaeal faehie
India because of ................. . Tl
(@) a high birth rate (@) =9 S
(b) a relatively low death rate ®) TR FH g R
(¢) Immigration (¢ zfreE
(d) Zergﬁtir\;ilg moderate birth and (d) qE HE S e 7Y
Choose correct option : e A et
(A) (@) 30T (b)
(A) (a) and (b)
(B) (@) and (¢) (B) (a) O (c)
(C) (®) and (©) (©) (&) = (0
(D) (@) and (d) D) (a) 3TN (d) S
57. Consider the following lists and 57. Bl AT foERE S A ekl
choose the correct code given below : fraet -
Religion Group ot g
(@) Hindus @ fig
(b) Muslims (b) Yem
(c) Sikhs (¢ i@
(d) Christians d) Tgs=m
Population Growth ARG gl a0 2001-2011
Rate 2001-2011 Q) 15.5%
© 155% (i) 16.8%
(u) 16.8% (ti1) 24.6%
EL,”)) ztf/% (iv) 8.4%
iv) 8.4% et
Codes : :
@ ® © @ (@ b)) ©© (@)
A G G Gi) G A @ @ G Gv)
(B) (ii) (iii) (iv) (l) B) @) Gu) Gv) @)
©) Gii) Gi) Gv) @) (C) @) ) G@v) @
D) Gi) Gi) G (Gv) D) @ @) @O G
27 [m] 35 [



[=]

58.

59.

mm

Adolescent population is the

population falling in the age

Foa 0101 0 JOUUUURN .

(A) 1 to 15

(B) 1 to 10

(C) 10 to 19

(D) 10 to 25

Who identified industrialization,
urbanization and modernization as
the causal mechanism in bringing

decline in mortality and fertility ?

(A) Frank Notestein

(B) Malthus

(C) Marks

(D) Coal and Hoover

59.

JUN - 11225/I1—B

(A) 1915

(B) 149 10

(C) 10 9 19

(D) 10 d 25

SrENfTeRTeRR0T, TTadeRTor o7 3MegfTeRiahr
E Tge SO TSTHETHAT ShHt ShUATS

RO TN U RN Hs@el ?

(A) B LM

(B) #eg™

(C) ARy

(D) i AT gor

28
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60.

Match the following :

List I
(Economists)

(@) J. H. Boeke

(b) Benjamin Higgins

(¢) H. Myint

(d) Simon Kuznets
List II

(Name of the books)

() Economics and economic policy

of dual societies
(z1)) Economic development

(zi1) The economics of the developing

countries
(tv) Modern economic growth
Codes :

(@ & © @

A @ @G G Go)
B) @ @ @) 6@
C) @) @ @ @)
D @) @ @ G

JUN - 11225/I1—B

60. Siedl Seodl :

il |
(3refoTTER)
(@ <. TE. 9w
(b) st fafira
() wa. fhHe
(d) 9FHT FHFAH
gt 11
(&Il viTeien)

() T ES i enfur e
IRy

(i) eTfeier foehra
(iii) fomreTelial Sume srefeme
(iv) STYMh TfEw Fai
Hehdich :

(@ B (© (@

A @ @) G Go)
B) @ @O @) G@)
€ @) @ @ ()
D) @) @ @ G

29
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61. The ‘Technological Dualism’ in | 61. =JAfaskfaa IwwEAA ‘THAH Faag’
underdeveloped countries could be | ... it ¢
Higd chledl <dsal.
broken through ................. .
(A) a gradualist approach of (A) foepraran s Cérbdq""'
development B) 0\; =
(B) family planning
C) T &ATe  Scacehdl  AT@HTet
(C) planning for increased ©) % h
productivity in rural sector [REISE]
(D) focusing on Information (D) wifedt S5 AR et Sifed w0
Technology sector
‘ﬁ ﬁ 3 . > é (VL] ﬂ L)
62. ‘Digit ALL Innovation and 62. el : T 38 A
Technology for Gender Equality’ was SeT gt g EEINIKH
the theme for International Women’s ST Aigel fea= UN 954 §R sifta
Day in the year ................... by UN Sl =vaed (Theme) =B
Women.
(A) 2020
(A) 2020
(B) 2021
(B) 2021
(C) 2022
(C) 2022
(D) 2023
(D) 2023
63. In 1947, C.P. Blacker attempted to 63. 1947 tl‘f-% . SR A AR
identify the ................ phases of AT Hh T T W A
demographic transition. -
(A) Three (&) =
(B) Four (B) =N
(C) Five (€) ==
(D) Six (D) Ha1
30 [m] {5 [



64. With reference to the ‘Banks Board

65.

Bureau (BBB), which of the following

statements are correct ?

(1) The Governor of RBI is the
Chairman of BBB.

BBB recommends for the

(2)
selection of heads for Public

Sector Banks.

(3) BBB helps the Public Sector
Banks in developing strategies

and capital raising plans.

Select the correct answer using the

codes given below :
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (1), (2) and (3)

‘Rapid Financing Instrument’ and
‘Rapid Credit Facility’ are related to

the provisions of lending by ........... .
(A) Asian Development Bank
(B) International Monetary Fund

(C) United Nations Environment

Programme Finance Initiative

(D) World Bank

64.

65.

JUN - 11225/I1—B
‘ge dre U (BBB) =1 Wi,
WeAteAdeh! hIvl faem se) sTea ?

(1) RBI = Tk BBB @ 37&987 319d

BBB HaSi{eh &3t slehi=Al

e HegEe ReRE wd.

(2)

BBB WESifaer QATAIA Sem1HI
ZRTIAT A S0 HiSad JGr=
A TIR HI0GE HEd hid.

3

TTeiTe Hehdleh AMTEA 4rd IR e :
(A) ™ (1) o1 (2)
(B) el (2) U (3)
(C) ek (1) afur (3)
D) (1), (2) sfor (3)
Y e W Rghe st e

SUATAT RIS HEfed ST
(A) Ty faewg o
(B) sTawrsgra Aoy faedt

(C) gAIeE AW TogradHe W™
B SR e
(D) Srifdes Sk

31
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66. Match the following in context to | g6. (20 Ufqeca Ter=n Seuld Eeie SIS
G20 Engagement Groups : S
Group T
(@ B20 (@) B20
b) C20
(b) C20
(c) L20
(c) L20
(d) T20
Working Area @) 120
(z) Energy, Climate and Resource &
Efficiency (@) oll, BATAM ST LA e
(i) Climate policy and finance (i) ‘AME ERo enf foam
(11i) Sustainability (Energy and (i1i) SMgerddal (Sl S0 gaHM)
Climate) (i) T
(iv) Interests of Workers i
Codes :
(@ b)) ©© @)
(@ b)) @ @ ' B ‘
A 6 G G G A @ @ @) (o)
©) @) Gi) Gv) Gi) ©) @ G @ @)
M) G) Gi) Gv) G D) @G @) @ @
67. Which of the following is not a | 67. @Icicdeh! vt A MUDRA sehi
scheme offered by MUDRA Bank ? qeAed! el 2
(A) Shishu (A) fergp
(B) Kishor (B) f¥iR
(C) Tarun (C) dqem
(D) Nari (D) ™
32 [m] {5 [
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68. National Health Policy 2017 has | 68. ¥US¥ 3R &R0 2017 7 2025 w&a
recommended an increase in the TWEH= SRS E=d GDP =0
Government’s health expenditure | . =5 T a1 HAE RTERE
upto .coeeeeeeeeinnnns percent of GDP by Ft o
2025

(A) 2.0
(A) 2.0

(B) 2.5
(B) 2.5

C) 3.0
(©) 3.0 ©

D) 3.
D) 35 D) 3.5

69. Which of the following sequence is | 69. ST TTHIUI Slhie YT Wiead feeeed
correct about share capital in WAGTUh] Ul hH AR 3T 2
Regional Rural Banks ? . .

(A) %5 THR > YA ok > T
(A) Central Government > Sponsor
Bank > State Government
(B) Sponsor Bank > Central (B) WIS & > &3 WA > T
Government > State RILCALY
G t . —
overnmen (C) TST THR > g TR > Y
(C) State Government > Central S5
Government > Sponsor Bank
(D) Central Government > State D) E\B’g SRS > AP AR >
Government > Sponsor Bank b

70. Atmanirbhar Bharat Abhiyan was | 70. 3TcA{¥R YRa SR=MMET So0M Ga9em™
announced 0N .................. by Prime T qG R e gt et
Minister Narendra Modi.

A) 12 5= 202
(A) March 12, 2020 (&) 020
(B) April 12, 2020 (B) 12 THel 2020
(C) May 12, 2020 (C) 12 & 2020
(D) June 12, 2020 (D) 12 A 2020
33 [m] 35 [
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71. India’s own Target to Achieve Net | 71  yram feae Tord e IESH W™
Zero Carbon emissions is by the o SRR e
f;jr2050 ............. : ) 2050
(B) 2040 (B) 2040
(C) 2060 (C) 2060
D) 2070 (D) 2070

72. Match the following : 72. SIS @A

List 1 et 1
(Finance Commission) (forr )
(@) 12th Finance Commission (@ 12@0 foxi ST
(b) 13th Finance Commission (b) 139 fo s
(¢c) 14th Finance Commission () 1470 for smmT
(d) 15th Finance Commission (d) 151 fau smaEm
List II gt 11
(Chairman) (3TEaE)
@) Dr. Vijay Kelkar (@) T fosa dewt
@) Dr. C. Rangarajan @) . . TREH
(@) N. K. Singh (i) T &, fE
(iv) Y. V. Reddy (v) 9. <. igfr
Codes : Hehdich :
(@ b)) ©© @ (@ ®) @ @
A @ @) @) Gv) A @ @) @) o)
B) @) @ Gv) @) B) @) @ (o) @G6@)
(C) @) Gv) @ @) (C) @) Gv) @ O
D) Gv) @) @ @) D) Gv) @) @ @)
34 i
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73. The Non-Scheduled Banks are those

which have not been included in the
.............. Schedule of RBI Act 1934.

(A) First
(B) Fifth
(C) Third
(D) Second

74. Mutual Funds in India have to be

formed as .................. .

(A) Trusts

(B) A Joint Stock Company

(C) A Non-Bank Financial Company
(D) An Agency

75. The Tarapore Committee appointed
in 1997 was for which of the

following purposes ?

(A) To work on Current Account

Convertibility of Rupee

(B) To work on Capital Account
Convertibility of Rupee

(C) To work on Current and
Capital Account Convertibility
of Rupee

(D) To work on Partial Convertibility
of Rupee

73.

74.

75.

JUN - 11225/I1—B

foR-3TIHfaq sfehT AT 3TN ST STHFAIT
FqT |(:{$‘|o|c a\"m CARIH 1934 =g o

sTYfea Ia .
(A) dfgean
(B) dr=reAn

(C) fa&=
D) @A

(A) =™

(B) 9gad Hieddl HUl

(C) sy foxita Ut

(D) YT

1997 ATell ARMAR GHd] TAM99 Shvdr=

3T HE B ?

(A) TR =] WEe TRadRReER
HTH  HLOIHS

(B) T STl WiAeRie] TRekHIF0eR
I HITIHS

(C) TR =] S0 WiSael SRl
TREd-IEdeR. hTH HITIES

(D) TYIr=AT AR gfiad-iadel &

FHLOITS!

35
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76. The Prevention of Money Laundering | 76. 31d4 sTffer =xaer ufaey sifufrem

00
] JUN - 11225/II—B

Act was passed in the year ............. . Wﬁ """""""""" g HHd e
(A) 2002 (A) 2002
(B) 2003 (B) 2003
(C) 2004 (C) 2004
(D) 2005 (D) 2005

77. Which of the following is established | 77. TRATHEA TTeflerdshi hemmsl TToHI

for resolution of the Non-Performing FIIEH HICTHD HHE HISUAHIS]
Assets in India ? ELS U
(A) National Non-Performing Asset (A) USE  FIRS  HHW S
Company Ltd. BRIl
(B) National Performing Asset (B) U ScUigsh  ATAHWT RO
Company Ltd. BRI
(C) National Reconstruction Capital (C) T Y=l wigaa! Hu
Company Ltd. Toifed
(D) National Asset Reconstruction (D) TS AI@HAT GAREA Rl
Company Ltd. wifeq
36 OO



78. Which of the following is a Refinance

Institution in India ?

(A) National Housing Bank

(B) Exim Bank

(C) General Insurance Corporation

(D) Tourism Finance Corporation

JUN - 11225/I1—B

78. W BRI WA A e

qR ?

(A) T TR den
(B) STAG-faid o
(C) wm= fom weHes

(D) R vdeq fod wemees

of India
79. The National Stock Exchange was | 79- YTl Teh WoRFeISTe STOAT 711
setup in .......cceeeen. . HEA el
(A) 1990 (A) 1990
(B) 1991 (B) 1991
(C) 1992 (C) 1992
(D) 1993 (D) 1993
80. The reserve money in India is also 80. ATt Trefter Temrerm STEE
known as .....cc......... . JMRINE
(A) Low powered money (A) =¥ TrERiTeTe TE
(B) High powered money (B) eifees wfertemett T
(C) Secondary money (C) T=m T
(D) Advanced money (D) ¥ T
37 OO0
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81. Why does a firm under perfect | o - ol Tt SEmTETen <HHTeR hae

competition continue to operate in

JUN - 11225/I1—B

HIYRV/I TR HAITE! A hl
the long run despite earning only

normal/zero profits ? T[Rd ?
(A) The firm operates at socially

(A) TIeIhTEd ITAMTHEAT HATHTSIohG S

optimum level of output in the

I A o
0
long run qltd Hidoeolcdl enlHd 3:@%

(B) The firm achieves maximum

(B) <TeHehTeerd SANTEEN HEwH ScIaeh

productive efficiency in the long

HIETHA TeT hid

run

(C) The opportunity cost of the self- ©) &t SeeTERe s

owned factors is already being

THHTASR = ScdIed Hhran  Heft
recovered by the firm in the

long run Td e hled  THd

(D) All the firms are operating

(D) <Hwed Td ST gHEH

under identical cost conditions

feordia wda sra

in the long run
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82. What is the short run supply curve 82. vl TqiidieT SCATERET STCUHTC X
of a firm in a perfectly competitive
Ik RIS HE ?
market ?
(A) The part of the marginal cost (A) TEE =E gwede S e
curve that lies above the
EEJCIERI
average cost curve
(B) The part of the marginal cost (B) TUE TR @ asheriel Smid e
curve that lies above the
EEJEIERIU
average fixed cost curve
(C) The part of the marginal cost (C) TUEd ST T geTade S
curve that lies above the
TE gehrEl HE
average variable cost curve
(D) The part of the average variable (D) HHia @ oTshraiiel T searedl
cost curve that lies above the
€ gl AN
marginal cost curve
83. When the Total Product (TP) is | 83. Siel TsHUI ScUIGH WetH s, degl Tl
maximum, the Average Product (AP) Jcqrgd FEd smfur g
IS ereieieeennn, and the Marginal Scqred T .
PI'Oduct (MP) iS ................... . (A) W 'ra,)—;n—,_l'
(A) maximum, minimum
(B) ferHM, HewH
(B) minimum, maximum
(C) Decreasing, zero © NS
(D) Zero, decreasing (D) IH, =R
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84. According to Bergson-Samuelson | 84. W—WW AT, HeA el
social welfare function approach, ST IER, Segr =T
social welfare is maximized

RS T | b e s i
when ..o, .
(A) The social indifference curve is (A) W qLdl 9% g'q'aﬂﬁ'ﬁ[ MIESKII
tangent to the utility possibilit
g y P y f ST
curve
(B) The social indifference curve (B) ETHISToh Te€erdl dsh ST IRl
intersects the utility possibilit
yP y EEAGIIEE]
curve
(C) The social indifference curve is (C) | TeEAdT dsh Scare IRl
tangent to the production
‘(’T o product T TR Sl
possibility curve
(D) The social indifference curve (D) HTHIISTR eIl dgh Scale IeRIdl
int ts th ducti
in e.rs.e'c S e production e
possibility curve

85. To maintain price leadership, | 85. & g HEw TEUAELG!, ~
a dominant firm must ensure WWW/WWW
that .o.coeeeeeeeereeenn. : el st

more or less than the level SO UIdesen S e e
agreed upon market sharing 3T HOR e
agreement - Rrat
B) 'tg; t ch ice high B “
it does not charge a price higher .
& p, & aifuer frua STPROR ATl
than the market price
(C) the small firms do not improve (C) <& SANTHEAT ScHIGHTH] =i
the quality of the product FHRUR &
(D) the small firms do not introduce (D) TEM SCANTHEA A=l STHa
innovations SR AR
40 [m] {5 [



86.

87.

In Chamberlin’s alternative

approach, why does the excess

capacity of a monopolistically
competitive firm emerge ?

(A) Absence of active price
competition despite free entry
and exit

(B) Active price competition and
free entry and exit

(C) Active price competition

(D) Free entry and exit

Which of the following term is more
important in welfare economics and
in designing government policy ?
(A) Indifference curve

(B) Consumer surplus

(C) Equi-marginal utility

(D) Revealed preference

86.

87.

JUN - 11225/I1—B
Jafem A= TERt gieRHER,
TRGRIGH WA AT

Afafed emar w1 fmor 89 ?

(A) T a1 9 fiae syt fopamefta

forua e v

(B) foramefiat fermd Taaf it Jet vt

9 e
(C) frawie feua waut
(D) g vaw 9 A

THEATIERT] ST ST TR RO
TAftfdme Greliciien! ShIv Tehod T STfues
el 3 ?

(A) SSEEal 9%
(B) Uesh STfHR™
(C) 9\ dHa Sy

(D) AfTeza gd«t
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88. Which of the following is an example

mm

of adverse selection ?

(A) Buying a used car

(B) Buying health insurance

(C) Buying a high-quality product

(D) Investing in capital market

89. Which of the theorems of welfare
economics considered that the
general competitive equilibrium is
Pareto Optimal ?

(A) Only first theorem of welfare
economics

(B) Only second theorem of welfare
economics

(C) Both the first and second
theorem of welfare economics

(D) Neither the first nor second

theorem of welfare economics

88.

89.

JUN - 11225/I1—B

SR FIR Wi e ST
o 2

(A) IR HR ERET H]
(B) 3TRrg four Bt w0l
(C) I=a-TUEE SR BRE! 0!

(D) wiael SN [aaueh o)

FATTRNT ST I THA
=R Shetl sl T Taeiceh dder el
TRAH S ?

(A) FAER AR haad T

T

(B) HeAUhR ALY heled T
Y

(C) HeAmERl ifemeT Sl dfedt
amifor gferdta Wi

(D) AR HRMEE qfeet fohel
T THF T
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91.

Which of the following explains the

concept of risk ?
(A) When the variability of possible
outcomes is very high

(B) When the variability of possible
outcomes is very low

(C) When the variability of possible
outcomes is constant

(D) When the variability of possible

outcomes is highly accurate
Which of the following statement(s)

is/are true for the assumption of Pure

Competition ?

Select the correct answer from the
codes given below :
(@) The firm in pure competition is

a price taker

The

homogeneous products

(1) firms produced

(t1i)

This market includes a large

number of firms
(tv) The firms produce heterogeneous
products
(A) (@), (i11) and (iv)
(B)
()]

(D)

(i) and (it) only
(it) and (iiz) only
(@), (i1) and (it7)

90.

91.

JUN - 11225/I1—B

EcATTeh! hIvd SIEH HehoTdl Tt
A ?

(A) Seg1 "o foasi=n aRedaeierd
Ty S e

(B) Sieg1 §ured fouxit=l gfed=eiierdrn
U FHH

(C) g1 gured fsuxit=i gferd=eieran
feer 3rd

(D) Segl Gy feawit= qRad=eieran
AT ITH T

Tretaden! o foum ygy T

TElqeRS! aeR 318 ?

Trell o HehdishHEd AR W

IREEIIE
() Y&Y Wide e fhaa @ikl e/
(i) U THfaY I TR FHLEA

(i) = SSRHE Y@ Higdl §e
FHEY Bl

(iv) YA gAY IR SR A
(A) @), (i) 3 (Gv)
(B) (i) o (i) Hekd
(C) (ii) M (447) e

D) @), () 2 (i)
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92. In the equation Cp = kYp, k is

determined by .................. .
() Interest Rate

(z1)) The Proportion of Non-human
Wealth to Human Wealth

(z11) Desire to add to One’s Wealth
(tv) Inflation Rate
(v) Permanent Income
(A) (@), (1) and (1)
(B) (i) and (@)
(C) (i) and (iv)
(D) (@iD), (Gv) and (v)
93. Which is the short run Keynesian

consumption function ?

(A) C =a+bY
(B) C =a-bY
(C) C =bY
(D) C = abY

94. When income of individuals or

households falls, their consumption

92.

93.

94.

JUN - 11225/I11—B
Cp = kYp I HHIHMHEA, k & ¥h
.................. A e
(@) &N I
(i) AR GO AT O STt

JHIT

(i) TEEATE GO drefavaret 3ol
(fv) THTERMET T
(v) TR IAA
(A) (@), (i) AT (347)
(B) (@) o (i)
(C) (i) M (iv)
D) (i), (iv) 3 (v)

EeATeTUeh] SV Shae TRt ST
T A ?

(A) C=a+bY

(B) C=a->bY

(C) C =bY

(D) C = abY

Siegl i foha Fgar I HET B
TR A U TE T FHIOT T

expenditure does not fall to that A AL " T =
extent. This is known as ............... .

} (A) W3 ufomy
(A) Demonstration Effect
(B) Income Effect (B) ¢ (o4
(C) Ratchet Effect (C) Wre gfom
(D) Uprise Effect (D) 3@ ufomm
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95. Choose the correct statement :

(A)

(B)

©

(D)

Transfer Payments and Net
Interest Payments on public
debt are included as payment
in Foreign Account in Social

Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as payment
in Consumption Account in

Social Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as receipts
in Capital Account in Social

Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as receipts in
Consumption Account in Social

Accounting System

JUN - 11225/I1—B

95. R faum fes@n

(A)

(B)

(®)

(D)

BT SFeh o HESITeh hstoid]

fesios SATST QFeh, WA T@Iieh

TR TS TATHE Qdeh
WA GHIfIsE Fdrd

B0 <ok o HIaST-eh sholiaddl

fees AT <ah , TSI CTeeh
TEHdde SUHN WA Q3
TRUH IO B

d ¥ N o [a (o o
XA g Fh d HISI[Heh ehS{[acd

fTede =TT g, QTSI ol
TR TSae! e STaeh
TRUA wHiferse g

BT ST & TTESIeh sholiaiie

fTedes =TS SFeh, WM e

qeHdrdiel UL TTATHES  STTeleh

U GO B
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96.

97.

98.

mm

Which of the following statements

is false ?

(A) India experienced the dual
exchange rate system

(B) Indian rupee was linked with

Pound Sterling

(C) India is the founding member

of IMF

(D) India is using flexible exchange

rate system since independence

In the Keynesian range of the LM

CUIVE ..oeereveenaennns .
(A) Monetary Policy is fully effective
(B) Fiscal Policy is ineffective
(C) Both (A) and (B) are true

(D) Both (A) and (B) are false

Balanced Budget Multiplier (BBM)
states that, if government spending
and taxes change in equal amount,
then income will change by an

96.

97.

98.

JUN - 11225/11—B
TeAeish! R faue 8 o ?
(A) 9TRamed gedt faf e < gt Bt
(B) WIdE T9d1 & U&He wfe ded
o B
(C) 9 & IMF =1 HEAT9% HSH 390
e
(D) WRAW WA deeieh

T UgdrE WihR el 378

(A) Hifgehr gRor qoiosr guret

(B) TSThISHE &R0 Gt T9d

(C) (A) amfor (B) g 3t faum e
3Ted

D) (A) nfor (B) & =1 faemy g
e

Hfer stedgshed ok (BBM) 318 T

HA H, SR TSN @ A0 H THH

TR FEaTel; a8 S-S GLhil

amount equal to change in T IEArA] ThHHTHR I8 alsd STl
government expenditure and the ORI Heg 3.
value of multiplier will be ............ .

A 1
A 1

(B) 0.5
(B) 0.5
D) 3 (D) 3

OO



99.

The ratio of cumulative loss of GDP
(as a result of disinflation policy) to
the reduction of inflation that is

actually achieved is .................. .

(A) Inflation-Unemployment Trade-

off
(B) Sacrifice Ratio
(C) Growth-Inflation Trade-off

(D) Growth-Price Trade-off

100. Which of the following are not the

classical principles ?
@)
73]

Supply is equal to Demand

Money is used as a Store of
Value

(i11) Interest Rate is Flexible

(@)

Capitalist Economy is not self-

equilibrating

()

No government intervention in

an economy
(A) (@) and (i7)
(B) (i7) and (ii7)
(C) Only @)

(D) (@2) and (iv)

99.

100.

JUN - 11225/11—B
ENEEIHEREICIIE S G R e
IARA el Foll 52 T =e-
T Serell gs T A U

~

IS

(A) TATTER-SRISTR T

(B) ™M TR
(C) FH-THTIR THHH

(D) IR-frma T

W] I faemT IaaTane]
ALY T 99d Al 2

(i) YISl B HAETON Zashra STEdl

(i) T T YeaEET e WU S
SIall

({i7) SATSIEY Aa=eh Tl

(iv) STATME fTaeen wWaggied
T

(v) ATHTEIAE TIHRAT ST T
(A) @) = (i)

B) (1) =for (iii)

(C) ®F (i1)

D) G2) 3T (Gv)
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